
x y

|x|+ |y|  |x+ y|+ |x� y|
1 + |xy � 1|  (1 + |x� 1|)(1 + |y � 1|)

E(x)

8x 2 Z, E(x) + E(�x) = 0 8x 2 R \ Z, E(x) + E(�x) = �1

8x, y 2 R, E(x) + E(y)  E(x+ y)  E(x) + E(y) + 1

N; [0, 1] \Q; ]0, 1[\Q
A =

�
1� 1

n | n 2 N⇤ 

B =
�
(�1)n + 1

n2 | n 2 N⇤ 

C =
�
x� y | x 2]2, 9[, y 2]� 1, 10[

 

A B R x 2 R
�A =

�
� a | a 2 A

 
; A+B =

�
a+ b | a 2 A, b 2 B

 
; x+ A =

�
x+ a | a 2 A

 

AB =
�
ab | a 2 A, b 2 B

 

sup(�A) = � inf(A), sup(A + B) = sup(A) + sup(B), sup(x + A) =
x+ sup(A)

sup(AB) = sup(A)⇤sup(B)

R

inf{1 + 1

4n2
, n 2 N⇤} = 1

8x 2 R, 0  E(2x)� 2E(x)  1

(a, b) 2 (Q+)2
p
ab /2 Q

p
a+ 3

p
b /2 Q

x E(x) + E(x+ 1
2) = E(2x)

viet

viet

viet

viet



 
 
 
 

 

 

 



 
 
 

 

 

 



 
 
 

 



 
 
 

 

 



 
 
 
 

  



 
 
 
 

 



 
 
 

 


